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▪ 𝒔𝒊𝒏𝜽 =
𝒚

𝒓

▪ 𝐜𝐨𝐬𝜽 =
𝒙

𝒓

▪ 𝐭𝐚𝐧𝜽 =
𝒚

𝒙
, 𝒙 ≠ 𝟎 ▪ 𝐜𝐬𝐜𝜽 =

𝒓

𝒚
, 𝒚 ≠ 𝟎

▪ 𝐬𝐞𝐜𝜽 =
𝒓

𝒙
, 𝒙 ≠ 𝟎

▪ 𝐜𝐨𝐭 𝜽 =
𝒙

𝒚
, 𝒚 ≠ 𝟎

𝑟

𝑥

𝑦

𝜃
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𝑐𝑠𝑐 𝜃 =
1

𝑠𝑖𝑛 𝜃
, 𝑠𝑖𝑛 𝜃 ≠ 0

𝑠𝑒𝑐 𝜃 =
1

𝑐𝑜𝑠 𝜃
, 𝑐𝑜𝑠 𝜃 ≠ 0

𝑐𝑜𝑡 𝜃 =
1

𝑡𝑎𝑛 𝜃
, 𝑡𝑎𝑛 𝜃 ≠ 0

𝑠𝑖𝑛 𝜃 =
1

𝑐𝑠𝑐 𝜃
, 𝑐𝑠𝑐 𝜃 ≠ 0

𝑐𝑜𝑠 𝜃 =
1

𝑠𝑒𝑐 𝜃
, 𝑠𝑒𝑐 𝜃 ≠ 0

𝑡𝑎𝑛 𝜃 =
1

𝑐𝑜𝑡 𝜃
, 𝑐𝑜𝑡 𝜃 ≠ 0
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𝑡𝑎𝑛 𝜃 =
𝑠𝑖𝑛 𝜃

𝑐𝑜𝑠 𝜃
, 𝑐𝑜𝑠 𝜃 ≠ 0

𝑐𝑜𝑡 𝜃 =
𝑐𝑜𝑠 𝜃

𝑠𝑖𝑛 𝜃
, 𝑠𝑖𝑛 𝜃 ≠ 0

cos2 𝜃 + sin2 𝜃 = 1

tan2 𝜃 + 1 = sec2 𝜃

cot2 𝜃 + 1 = csc2 𝜃
sin

𝜋

2
− 𝜃 = cos 𝜃

cos
𝜋

2
− 𝜃 = sin 𝜃

tan
𝜋

2
− 𝜃 = cot 𝜃

sin −𝜃 = −sin 𝜃
cos −𝜃 = cos 𝜃
tan −𝜃 = − tan𝜃
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1

sin cos

tan cot

sec csc
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https://t.me/GhadahAlfadhly

Ghadah 📒 (@Math_Ghadah) / Twitter

https://t.me/RAFAH_Secondary5
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